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Calculate 3.81 + 18.3 Circle two decimals that have a difference of 0.5
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0.2 0.25 04 0.45 0.6 0.75

2008A KS2 Q14
Here are four digit cards.
Calculate 45.3 X 6 2008A KS2 Q16
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Use each digit card once to make the decimal number nearest to 20
Circle all the numbers that are greater than 0.6
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0.5 0.8 0.23 0.09 0.67
2007A KS2 Q24
Part of this number line is shaded. H!!

\
Circle all the numbers below that belong in the shaded part of 0.01 0.1 1.01
the number line.
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1.1 1.4 13 15 9.09 9.9 9.99



https://www.youtube.com/watch?v=uZyMB0j43aI&list=PLS3PH82bo0VAkEKofuCdfPUAD5mwjbv5U&index=9
https://www.youtube.com/watch?v=paNoaKkHNj8&list=PLS3PH82bo0VBgaF4RCu1nFganpFTSFBqV&index=11
https://www.youtube.com/watch?v=ZWU25VpgyQw&index=9&list=PLS3PH82bo0VBdGoHWY0PRNLHEZaRU1Yqy
https://www.youtube.com/watch?v=6kjsntuBlhc&index=10&list=PLS3PH82bo0VBJMWhA_KgnmlCz7eYt4Ic0
https://www.youtube.com/watch?v=DmCOLqJSzRM&list=PLS3PH82bo0VD3wOBNNCYB2d5Se1GGVyyI&index=15
https://www.youtube.com/watch?v=A6-H7ToXafM&index=11&list=PLS3PH82bo0VBdGoHWY0PRNLHEZaRU1Yqy
https://www.youtube.com/watch?v=N00fCE30snc&index=2&list=PLS3PH82bo0VBJMWhA_KgnmlCz7eYt4Ic0
https://www.tes.co.uk/teaching-resource/Y6-KS2-SATs-mental-maths-question-generator-program-interactive-and-self-marking-11013595

Calculate 13.6 — 2.8 2004A KS2 Q8
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The first two numbers in this sequence are 2.1 and 2.2

The sequence then follows the rule

‘to get the next number, add the two previous numbers’

Write in the next two numbers in the sequence.

%ﬁb 2002A KS2 Ql1

IVIrSingh buys paving slabs to go around his pond.

PAVING SLABS

2003A KS2 Q17 Calculate 31.6 X 7

£1.95 each Square slabs 50cm 3

S0cm by 50cm 1ODCm] Pond

£3.50 each Rectangular slabs

I:I 100cm by 50cm

He buys 4 rectangular slabs and 4 square slabs.
What is the total cost of the slabs he buys?
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Show
your working.
You may get

a mark.
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Mr Singh says,

‘It would cost more to use square slabs all
the way round.”

Explain why he is correct.

Calculate 52.85 + 143.6 2006A KS2 Q18

@&

2004A KS2 Q17

KD caolculate 15.05-14.84

Put a tick (v') in each row to complete this table.
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One has been done for you.
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Circle two numbers which add to make 0.12
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0.1 0.5 0.05 0.7 0.07 0.2

6 Calculate 8.6 — 3.75 \
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https://www.youtube.com/watch?v=DW8l_2JbgeA&index=18&list=PLS3PH82bo0VAiit-Ar3E596STjTK9BqKw
https://www.youtube.com/watch?v=zgae2R24bjc&list=PLS3PH82bo0VDJAGKLywxQt-ny_SLKVqNu&index=10
https://www.youtube.com/watch?v=9iG_Q1R0nHo&index=14&list=PLS3PH82bo0VACc6WGPYZNEN468cuoU-Mp
https://www.youtube.com/watch?v=Zfjp8H9uGUM&list=PLS3PH82bo0VDFLB1GO9MFyP7qMuzBVyJt&index=6
https://www.youtube.com/watch?v=Cqa2fnr1Tz0&index=9&list=PLS3PH82bo0VAiit-Ar3E596STjTK9BqKw
https://www.youtube.com/watch?v=-_GcY0WKDJI&index=9&list=PLS3PH82bo0VACc6WGPYZNEN468cuoU-Mp
https://www.youtube.com/watch?v=Q0Nd_nc30fU&list=PLS3PH82bo0VCqE0GWRWRiDdD4jM58yTbl&index=18
https://www.youtube.com/watch?v=vkeV51qQqJ4&list=PLS3PH82bo0VD4taaQGkL0Gl-3N2AnmO2r&index=13
https://www.youtube.com/watch?v=bjUcyq9YrgM&index=3&list=PLS3PH82bo0VD4taaQGkL0Gl-3N2AnmO2r

